2hr postload glucose, mmol/L
occupational CH
occupational D+
transportation C-
transportation D-
TV viewing C-
TV viewing DA
computer use C-
computer use D~
Fasting glucose, mmol/L
occupational CH
occupational D+
transportation C-
transportation D-
TV viewing C-
TV viewing D+
computer use C-
computer use D-
Systolic blood pressure, mmHg
occupational CH
occupational D+
transportation C-
transportation D-
TV viewing C-
TV viewing DA
computer use C-
computer use D~
Diastolic blood pressure, mmHg
occupational CH
occupational D+
transportation C-
transportation D-
TV viewing C-
TV viewing DA
computer use C-
computer use D~
Triglycerides, mmol/L
occupational CH
occupational D+
transportation C-
transportation D~
TV viewing C-
TV viewing DA
computer use C-
computer use D-
HDL cholesterol, mmol/L
occupational CH
occupational D+
transportation C-
transportation D+
TV viewing C-
TV viewing D~
computer use CH
computer use D+
LDL/HDL cholesterol ratio
occupational CH
occupational D+
transportation C-
transportation D+
TV viewing C-
TV viewing D~
computer use CH
computer use D+

-0.15 -0.10 -0.05 0.00
SD difference in biomarker (95% CI) per h/day sitting

0.05

0.10

0.15

b = -0.02 (-0.06, 0.02), p = 0.388
b = 0.00 (-0.04, 0.04), p = 0.996
b = 0.08 (-0.01, 0.16), p = 0.069
b =0.07 (-0.01, 0.15), p = 0.084
b = 0.02 (-0.05, 0.09), p = 0.619
b = 0.00 (-0.07, 0.07), p = 0.897
b =0.03 (-0.03, 0.10), p = 0.290
b =0.01 (-0.06, 0.07), p = 0.839

b = 0.00 (-0.01, 0.02), p = 0.632
b =0.01(-0.01, 0.02), p = 0.186
b = 0.01 (-0.03, 0.04), p = 0.754
b = 0.00 (-0.03, 0.03), p = 0.866
b =0.01 (-0.01, 0.03), p = 0.380
b =0.01(-0.02, 0.03), p = 0.611
b = 0.00 (-0.02, 0.03), p = 0.721
b =-0.01 (-0.03, 0.01), p = 0.522

= -0.42 (-0.78, -0.05), p = 0.027
b = -0.31 (-0.67, 0.06), p = 0.097
b = -0.29 (-0.94, 0.37), p = 0.387
b = -0.33 (-0.97, 0.30), p = 0.298
b=0.74 (0.16, 1.32), p = 0.014
b = 0.66 (0.08, 1.23), p = 0.025
b = 0.45 (-0.17, 1.07), p = 0.150
b = 0.26 (-0.38, 0.89), p = 0.416

b = -0.40 (-0.69, -0.10), p = 0.009
= -0.30 (-0.58, -0.02), p = 0.039
b =-0.06 (-0.56, 0.44), p = 0.819
b =-0.10 (-0.59, 0.39), p = 0.680
b = 0.47 (0.10, 0.84), p = 0.013
b = 0.40 (0.04, 0.75), p = 0.029
b = 0.01 (-0.32, 0.35), p = 0.933
b =-0.16 (-0.49, 0.17), p = 0.331

b =-0.01 (-0.03, 0.01), p = 0.523
b = 0.00 (-0.02, 0.02), p = 0.941
b = 0.00 (-0.03, 0.02), p = 0.743
b =-0.01 (-0.03, 0.02), p = 0.566
b =0.02 (-0.01, 0.05), p = 0.196
b = 0.01 (-0.01, 0.04), p = 0.330
b =0.01 (-0.01, 0.03), p = 0.383
b = 0.00 (-0.02, 0.02), p = 0.828

b = 0.01 (0.00, 0.02), p = 0.283
b = 0.00 (-0.01, 0.01), p = 0.721
b = 0.00 (-0.02, 0.01), p = 0.648
b = 0.00 (-0.01, 0.01), p = 0.796
b = -0.01 (-0.03, 0.00), p = 0.036
=-0.01 (-0.03, 0.00), p = 0.071
b =-0.01(-0.02, 0.01), p = 0.319
b =0.00 (-0.01, 0.01), p = 0.969

b =0.00 (-0.02, 0.02), p = 0.717
b = 0.00 (-0.02, 0.02), p = 0.875
b =0.01(-0.02, 0.04), p = 0.613
b =0.01(-0.02, 0.03), p = 0.725
b = 0.02 (-0.01, 0.05), p = 0.199
b =0.01(-0.01, 0.04), p = 0.307
b = 0.03 (0.00, 0.05), p = 0.047
b = 0.02 (-0.01, 0.04), p = 0.212
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